TR KELLICEI HERRAE(CIER O FRER)

xR R LER

BARRZRDIERE 2 ER o) R iE

& fr & B 139B1011

& Pt £ tEER-4

2l £ i ERATHGETFE4hE|

HOE O# OB 0 ISR E R+ K EB
o e ol o

L s R~ (A — T ) a5z e L)

o _Hlil:""'

{32 1& ®(S=1:200,000)
= + #h 325 0D $4 i 1h 5] 200000 (it B & 15 ) [ 2% FE] . — BE ] K& UMk {iE #h 125000 (b R E48) [/IMEEF . ER %158




AHEMMOBRRRERE
BA3—1 BEOETLOHZLH. ELLEEDNSEZINDHLLHORER _ | _mEEE FIR2IFSE
= B N N B BEmEs /3981011 | EEB Zrab [ ot =i i h]

R

= M=k
5 S

TRMT AR

BEDEETNDHH T DX

3 ZELLVEEDE T DOH ST DR

TEEDOBEZLDAH100kN/ MEFEZ S EH
1 TRZDHESHIIMEEBASEEH

|

EFIR



R D R IR R EGRE

B3 —2 BRI EAY BLEESNHEEIET FEEI/1) i i} REFE V29T SE
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&S X 4 Er%:s —Fﬁﬁ'ﬁﬁ‘(i)@ﬁﬁ%ﬁ jj(g')fn?)é X 4 'Fﬁﬁ“ﬁﬁg\é:zg)n;kili ‘(r%;? jj(gigcnié X 4 ﬁf J:ﬁn*ah\(‘;)(l)tl:‘.%‘ jj(lfifn%%)é X 4 J:ﬁﬁh\(i)(l)tl:‘.%‘ ‘(.%3 jj(lfifn%%)é
7 100kN/m%E#BZ5 | 1.00 | 000 ~ 364 158.91 |3mZ#BZ 5| 000 ~ 213| 5396 21.17 | 100kN/mi%#825 | .00 | 1058 ~ 9060 15891 |3m&EBZB| 3000 ~ 90.60| 3.96 2117
st 1.00 | 864 ~ 1142 100.00 | =nLst | 218 ~ 1142 3.00 16.05 ThList 1.00 | 6.00 ~ 1058 100.00 | =nst | 5.00 ~ 3000 3.00 16.05
2 100kN/m##8x5 | 1.00 | 0.00 ~ 361 158.36 |3mZ#BZD| 000 ~ 211|394 21.10 | 100kN/mM#Z#BZ% | 1.00 | 1059 ~ 9875 | 158.36 |3m%E#BZ S| 3000 ~ 9875 | 3.94 21.10
L 1.00 | 861 ~ 1139 100.00 | =nLst | 211 ~ 1139 3.00 16.05 ThList 1.00 | 5.00 ~ 10.59 100.00 | =nst | 6.00 ~ 3000 3.00 16.05
3 100kN/m%#8%% | 1.00 | 000 ~ 372| 160.36 |3m&EBz23B| 000 ~ 218| 3.99 21.34 | 100kN/miZ#8z22 | 1.00 | 1055 ~ 10309 160.36 |3m%E#Bz 2| 2500 ~ 10509 3.99 21.54
ZhLst 1.00 | 572 ~ 1150 100.00 | #hst | 218 ~ 1150 3.00 16.05 zhLst 1.00 | 6.00 ~ 1055 100.00 | =05t | .00 ~ 2s5.00| 3.00 16.05
4 100kN/m%#8%% | 1.00 | 000 ~ 369 1569.87 |3m&EBzx%| 000 ~ 216\ 3.98 21.28 | 100kN/miZ#8z22 | 1.00 | 1056 ~ 10709 159.87 |3mZE#Bz 2| 2500 ~ 10709| 3.98 21.28
s 1.00 | 369 ~ 1148 100.00 | =nLst | 216 ~ 1148 3.00 16.05 ThList 1.00 | 6.00 ~ 1056 100.00 | =nst | 6.00 ~ 2500 3.00 16.05
100kN/mM%BZ % ~ ImEHBAD ~ 100kN/ M%#8Z % ~ IMEBZD ~
zhLst ~ Fhst ~ st ~ ZzhLst ~
100kN/mM%E{BZ % ~ ImEHBRAD ~ 100kN/mM%#B % % ~ IMEBZD ~
ZhLst ~ zhst ~ ZhLst ~ Fnst ~
100kN/mM%#BZ % ~ ImEHBAD ~ 100kN/ M%#8Z % ~ ImERBAD ~
Thilst ~ zhLlst ~ Thsn ~ Zzhust ~
100kN/MZ#2 2 % ~ ImEHBAD ~ 100kN/ M%#BZ % ~ 3mEBZ D ~
Thsn ~ zhst ~ Thsn ~ Zhust ~
100kN/M%#2Z % ~ ImEBAD ~ 100kN/ M%#BZ % ~ 3mEEZ D ~
Thsn ~ Thst ~ Thsn ~ ZzhLst ~
100kN/MZ#2Z % ~ ImEHBAD ~ 100kN/ M%#BZ % ~ 3mEEBZD ~
Thsn ~ Thst ~ Thsn ~ ZzhLst ~
100kN/ MZ#8Z % ~ 3mEHBAD ~ 100kN/ M%#BZ % ~ 3mEBZD ~
Thilst ~ zhst ~ Thsn ~ ZzhLst ~
100kN/MZ#2Z % ~ ImEHBAD ~ 100kN/ M%#BZ % ~ 3mEBZD ~
zhsn ~ Thst ~ Thsn ~ Zzhust ~
100kN/M%#2Z % ~ ImEBAD ~ 100kN/ M%#BZ % ~ 3mEEZ D ~
zhsn ~ Thst ~ Thsn ~ ZhLst ~
100kN/MZ#8 2 % ~ ImEHBAD ~ 100kN/ M%Z#BZ % ~ 3mEEZD ~
Thsn ~ zhst ~ Thsn ~ ZhLst ~
100kN/MZ#2 2 % ~ ImEHBAD ~ 100kN/ M%#BZ % ~ 3mEEZ D ~
Zzhsn ~ Thst ~ Thsn ~ ZhLst ~




